

$$g(f(n)) \rightarrow \{n \in D_f / f(n) \in D_g\}$$

$$D_{f(n)} = \sqrt{\log^{n-1}} \rightarrow n-1 \rightarrow n > 1$$

$$D_{g(n)} = \sqrt{-n^2 + 4n - 4} \rightarrow \sqrt{-(n-2)^2} \rightarrow n-2 \leq 0 \rightarrow n \leq 2$$

$$Dg = \{1, 2\}$$

$$\log^{n-1} = f \rightarrow n-1 = 14 \rightarrow \boxed{n=15}$$

1

$$f(g(n)) = g(f(n))$$

$$f(n^2 - 4n + 1) = g(n - 2)$$

$$n(n^2 - 4n + 1) - 2 = (n - 2)^2 - 2(n - 2) + 1$$

$$n^3 - 4n^2 + n - 2 = n^2 - 4n + 4 - 2n + 4 + 1$$

$$n^3 - 4n^2 + n - 2 = n^2 - 4n + 4 - 2n + 4 + 1 \Rightarrow n^3 - 4n^2 + 3n - 7 = 0 \rightarrow \alpha^2 + \beta^2$$

$$100 - 4 \times 15 = 90$$

$$S^2 - 2P$$

$$S = 10, P = \frac{90}{2}$$

2

$$g(f(n)) = 5n^2 + 11 \rightarrow g(n) = 5n^2 + 11 \rightarrow \frac{d}{dn} = 0$$

$$\boxed{11}$$

3

$$f(n) = 3n - 1$$

$$f(g(n)) = 3n^2 - 4n - 1 \rightarrow 3g(n) - 1 = 3n^2 - 4n - 1$$

$$\rightarrow 3g(n) = 3n^2 - 4n + 1 \rightarrow g(n) = n^2 - 4n + 1$$

$$g(f(n)) \rightarrow g(3n - 1) \rightarrow (3n - 1)^2 - 2(3n - 1) + 1$$

$$9n^2 + 14 - 2 \times 3n - 4n + 1 + 1 \rightarrow 9n^2 - 3n + 18 = g(f(n))$$

4

$$f - g = -n + 10$$

$$3f(n) - 2g(n) = -3n + 18$$

$$-3f(n) + 2g(n) = -18$$

$$2g(n) - 3f(n) = -18$$

$$f(n) = 2n + 6$$

$$-g(n) = -3n + 1 \rightarrow g(n) = 3n - 1$$

5

$$f \circ g(n) = 3(3n - 1) + 1 = 9n - 2 \rightarrow 9n - 2 = 0 \rightarrow n = \frac{2}{9} = \frac{1}{4.5}$$

$$f(g(n)) < g(f(n)) \rightarrow f(\log_p^n) \leq g(n)$$

$$q \log_p^n \leq \log_p^n \rightarrow n \log_p^n \leq n \log_p^n \rightarrow n^r \leq rn$$

$$n^r - rn \leq 0 \rightarrow n(n-r) \leq 0 \rightarrow \frac{0}{+} \frac{r}{-} \rightarrow [0, r]$$

$$\rightarrow 0/1/r \Rightarrow (0, r)$$

$$f\left(\frac{n^r-r}{n}\right) = n^r + n - r - \frac{r}{n} + \frac{r}{n^r} \rightarrow f\left(n - \frac{r}{n}\right) = n^r + \frac{r}{n^r} - r + n - \frac{r}{n} \Rightarrow$$

$$f\left(n - \frac{r}{n}\right) = \left(n - \frac{r}{n}\right)^r + n - \frac{r}{n} \rightarrow f(t) = t^r + t \xrightarrow{nt} f(n) = n^r + n$$

$$f(g(n)) \rightarrow f(nn - n^r) \rightarrow \log_p^{nn-n^r}$$

$$n \rightarrow nn - n^r > 0 \rightarrow n^r - nn \rightarrow 0 > n(n-r) \rightarrow \frac{+}{+} \frac{-}{-} \frac{r}{+} \rightarrow (0, r) = A$$

$$D_{f \circ g} = (0, r)$$

$$R_{f \circ g}(m) \rightarrow R_f \rightarrow n \in D_{f \circ g} \rightarrow \log_p^{nn-n^r} = f \circ g$$

$$R(nn - n^r) \rightarrow \frac{-b}{r \cdot a} = r \rightarrow rr - 14 \leq 14 \rightarrow Rg = (0, 14) \rightarrow R_{f \circ g} = (-\infty, r) \cap (0, r) = (0, r)$$

$$f(f(n)) = 1 - r f^r(n) \rightarrow f(t) = 1 - r t^r \rightarrow f(n) = 1 - r n^r$$

$$h(g(n)) = (n-1)^r + r(n-1) + 1 = n^r - r n^r + r n - 1 + r n - r + 1$$

$$h(g(n)) = n^r - r n^r + r n - r \leq 1 - r n^r \rightarrow n^r + r n - r \leq 0$$

$$n^r = r n + r$$



نقطة تقاطع بين المنحنى والخط

$$g(f(n)) = a n^r + r n$$

$$\left(n - \frac{r}{n} = r\right) \times n$$

$$g\left(n - \frac{r}{n}\right) = a n^r + r n$$

$$\rightarrow n^r - r = r n \rightarrow n^r - r n - r \leq 0$$

$$\rightarrow (n+r)(n-r) = 0 \rightarrow \begin{matrix} n \leq r \\ n \geq -1 \end{matrix}$$

$$\xrightarrow{n \leq r} g(r) = 4ra + r = r \rightarrow 4ra = 0 \rightarrow a = 0$$

$$\xrightarrow{n \geq -1} g(-1) = -a - r \leq r \rightarrow -a \leq 1 \rightarrow a \geq -1$$